ovision: M B |||||—

Rider Name/#

62

roach |Obstacle

Ap

s

Departure |Penalties |Credits |Total

[

|

e S R T cml e

NOPORaNIPRF O

—

—,
s,
S

ot | —

—

e

UNEDIRNE PR R

| v, [ —

1
!

e |

R

FH P

T L R R T S o e N
IR  aa U wal nd NS

DO NoNNIFOL

> e

cmame #

REINING CREDIT +5

RIDER TOTAL
RIDER TIME

T 3 p“*s b



Obstacle |Departure |Penalties |[Credits |Total
Obstacle 1 + | ¥ (s + | 5 g
¥ t6e | R
o 3 L 1 (o (-
T | +5 1+ B
¢l +5 |41 1
SR S IR 2
3 | +7 |+ g9
=l rY ©
+( [+7 | + i
F1 | +G |+ &
o I I = &
F\ [+ 71 4] g
T L] tn] 41 ~
313G [ ] 2
+ | Lo | =T } v
1 1 F |+ 1 =
3} + o | +1 -

REINING CREDIT +5

RIDER TOTAL 137
RIDER TIME




Approach |Obstacle |Departure |Penalties |Credits |[Total
+ 1 1) i
11 i S B ol o
¢ 3 T4+ b
+ |+ 1 +] e
e a7 L3 g
+ 1 146 [ +1 R
T it O W 2
T+ 71+ aq
+ | + (& 1 &
osl R I 4 0 I8, B
o R T N =
@t |+ L] t| o
==tT| | S557] + | 1
==\ =5 L] ]
‘}' | o U + 8
il | + 7 | T a

REINING CREDIT +5

i
~ -
~ 5 \
~
= i ?

RIDER TOTAL
RIDER TIME




Rider Name/# £ 0 L
Approach |Obstacle |Departure |Penalties |[Credits
1 [ +6 | +1 <
T PEs T T pi
4+ 1 (o T \ &
+ | s o B0 M k| Z
1 | F7 | +( 7
L s [ ] 7
+ | il .00 M il 7o
= f ""' Lf 1—’ ! (':f:?
) R I P B B
- a0 . S o B
i T . =
+ FG [ 1
I A
=1 T
+ | T+ |+
4+ { + |+
1+ ils - | =

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




F -

Approach |Obstacle |Departure |Penalties |Credits |[Total
Obstacle 1 +1 5 -} | N R
T Tl | +) 2T
Y [l [F1 g .l X
Tl keS| 9, 7
T il - s )4 %
sl Y K o ol O g g
I _tes | i B
i x 0T N ol 5 i
+1 [+¢ [+ ¢ 1%
T ?‘ (—{ + | Q’ (/::
+ | + U |+ L Co
w e O I R [ 2N 7
—1 |+s5]+1 5
S t+l | + | 8
=t o T 1| ”,
+ =
RIDER TOTAL

¥A

. JRIDER TIME




Approach Departure |Penalties |Credits |Total
T g Bt 5 e 5|
T t | + | 0
+ 1 [+Y | 4] ©
F1 [ +5 [ ]
+1 |+ | +) g
+ 1 [+ [+ G
el U <7 M L. N ]
+ | 4+ (7 | -1 B
1 |4+ [— 3
il +5 | 1 1
o DB RS b
1 6 g
weall W O 1 O 4
AWK NE S g

REINING CREDIT +5 +N

RIDER TOTAL 17
RIDER TIME




Departure |Penalties |Credits
1 4
Obstacle 2 4+ | X
Obstacle 3 - + T G
Obstacle 4 4 4 | —
Obstacle 5 4 —+ | [
Obstacle 6 + | —+ | b
Obstacle 7 + | = | 5

— ) —1

T ] —

1] 1

3 +)

aE + |

Tl =

+ | +

7+ 1 1 )

+ | ool

=X + |

REINING CREDIT +5

RIDER TOTAL

RIDER TIME




6{&(\}(&4{(‘\

i

Approach |Obstacle |Departure |Penalties |Credits [Total
Obstacle 1 X | +2 | 3\ A
Obstacle 2 A | 4 (o | + 2
Obstacle 3 4 | 4+ 4y |+ | 7
Obstacle 4 -+ | 4 = ‘-']
Obstacle 5 4 ~+ g 4 \ 3
Obstacle 6 @- + o L/ af i b
Obstacle 7 + | (. 1+ 0
Obstacle 8 — | =Ll 1 3 1 4
Obstacle 9 — | A | — | 0
Obstacle 10 e | - < 4+ |\ e
Obstacle 11 3\ + + | Q
Obstacle 12 = < & -| 1
Obstacle 13 = + | — | -1
Obstacle 14 — 4| s ) —_
Obstacle 15 + | +5 [ + =
Obstacle 16 = | +( | +
Obstacle 17 + | i Bigr + |

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




ZFN

Rider Name/# 5 G

Approach |[Obstacle [Departure |Penalties |Credits |Total
Obstacle 1 1.1 +.% | <] 5

Obstacle 2 =1 + 1 + | (o

Obstacle 3 } | + (- + | K

Obstacle 4 — | +4U | 4 L

Obstacle 5 + | Y . (p

Obstacle 6 + | L P 2 g i

Obstacle 7 -+ | T 5 + | 7

Obstacle 8 + | + 6 | 1 @

: Obstacle 9 + | 1+ 2 | + =)
Osfiferf\)) Obstacle 10 T T+ T =1} [
1% Obstacle 11 -+ | + 5 | 41 1
I -

3

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




L OxX0

DIVISION: N &

S
Approach |Obstacle |[Departure |Penalties
£ [+3 [+ SR
Obstacle 2 + | +y |+ O L
Obstacle 3 + | + 5 —+ | 7 7
Obstacle 4 —_ ) + U 3\ , = (2
Obstacle 5 + | o - & =
Obstacle 6 A} + b +( =
Obstacle 7 <+ .5 4 g
| Obstacle 8 + | -tz .t 4| ]
Oi’gj‘gﬂ@ Obstacle 9 = | 3} | . k — |
' Obstacle 10 + T3 x| A
Obstacle 11 + | +(o | 3| Q
Obstacle 12 + | 4 | A
Obstacle 13 =1 + - |
Obstacle 14 -+ | 51 — | ]
Obstacle 15 i ol + K + | 1
Obstacle 16 + | 37 3 | g
Obstacle 17 + | + (, + | 2
Obstacle 18

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




DIVISION: ATggga

Rider Name/# 2 i

Approach |Obstacle |Departure |Penalties |Credits
]
-+

L
(A

r—[\W
e —

=+
|
+

P

o T R o e S AR A Y)

—

T
4 |
T
+
4 |
+
L
2
1
1

0 A a AN R
SNV PNl

RIDER TOTAL
RIDER TIME




DIVISION:

Rider Name/# C970)

= (Y

(

Approach |Obstacle |Departure Penalties |Credits |Total
o I T S X1 L
FY I EG.L9] & 1%
+ | 6 |+ 3 £
1 [+5- 1 +1 i 0 4
- + % il Z Vi
3 TS5 [+ | 7 1 7
T [ T3 [+ T 15
a1 7 g L9
+ 1 [+ 1 4\ y 1 Y
+( |45 [ 2
31 1471+ % 7
4 | o |+ £
1 [+5 [+ Z Y
| e ook ¢ 5
+ | + 2| 4 | S RS

1 | g gk i 2
+ 1 [F5 [+ 7 1 7

REINING CREDIT +5 :

RIDER TOTAL
RIDER TIME




Approach Departure |Penalties Credits |Total
+1 G | I

+ \ g S ek q

FL [+ | +1 B

E O B 20 Ll 5
< e B - G

YU |46 [+ 5

+ (ooll W B ol 4

Obstacle 8 o +7 | 3\ a
Obstacle 9 4+ |\ A |\ + | 2
Obstacle 10 + \ 4+ B 4 \ =
Obstacle 11 2=} + 5 3\ —
4 |Obstacte 12 4+ | + | y z
Obstacle 13 4+ |,___5 A ¢ -
Obstacle 14 4 | 5 | 4+ 9
Obstacle 15 . il + ._f;, f 8
+ + 71 41 a

+ +7| + | a

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




’D-‘JLOI’\
ym@

EQLK@cf

Approach |Obstacle |Departure Penalties |Credits |Total
Obstacle 1 4+ | ‘-?S + | i
Obstacle 2 B ¥ 7 +1 q
Obstacle 3 Ea +7 | 41 G
Obstacle 4 + |\ +7 | +\ g
Obstacle 5 oy =l b (] S} M @ |
Obstacle 6 g 1[; * 1 -1
Obstacle 7 4+ ¥ N 4,- i
Obstacle 8 + \ Y+ ~—| p
Obstacle 9 [ +7 | + a
1 o 5, o 3
\ ~ g 2
+ [O
, Z
&
il
=)
5

REINING CREDIT +5

RIDER TOTAL
RIDER TIME



Rider Name/# | 3l
Approach |Obstacle |Departure Penalties |Credits |Total

Obstacle 1 +\ T soll!
Obstacle 2 T 1 ;= + | CZ %
Obstacle 3 i + ¢ F= ¥ 4 '
Obstacle 4 1+ | <+ (. + | X X
Obstacle 5 + + 5 + | 7 7
Obstacle 6 I =77 1 41 7 7
Obstacte 7 =5 7= = | (f 9
Obstacle 8 e + & 4\ S TS
Obstacle 9 + | 4+ + |\ < s
Obstacle 10 3 +49 |+ 1 /o =
Obstacle 11 + \ Y+ | +\ < g
Obstacle 12 + ST S (; (o
Obstacle 13 == + l — e i iy 1
Obstacle 14 + 1 K 34 =7 e 4%
Obstacle 15 1+ | +(, + ! X &

F 1 g [ F] & I 1¢

ST

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




X\

Rider Name/#
Approach |Obstacle Departure |Penalties Credits |Total
Obstacle 1 + | s E A £
Obstacle 2 4 | 4 3 =N =
Obstacle 3 + L + B 3 =
Obstacle 4 -+ | 4 T 3| =
Obstacle 5 + | —|'——"(:(_ + | I
Obstacle 6 + | + + &
Obstacle 7 3\ + Y S i L—?
Obstacle 8 4 | + G 3 | ¥
Obstacle 9 + \ .}' \ 3 | l
v WEAE. 2 S S 3
4+ +Hh | 4+ =
T0\|obstacte 12 = | ~+—( . = |
(7A0bstacle 13 4+ | 3 4\ z
+ { & + 0
}.,. ‘ .?. L( i - l (_p
+ | T 1 3
T &

i,

IRIDER TOTAL
RIDER TIME _




Approach |Obstacle |Departure Penalties [Credits |Total
Obstacle 1 — | +22 ] +) %
1| + | )

+ + &

| i i

3+ y

o L

1 | Q

a - L

+ | 1

sl §i

— :

Y 1

v il B

1) a

+ g

| 4

RIDER TOTAL {
RIDER TIME 55

T




Departure |Penalties |Credits
+] (T3 1 ¥ .
ol R [ 7 I R ¢ | &
£ O 2 s 8 g
N ETEER ¢ &
+ &DHH| +) i 5
+] | +7 ]+ el
+ e N W 5 5
1 [ +7 | +1 g 19
F +q 1 + AR
FT [ +7 |+ 9 19
U] [3 | < 1
3 | [ 3¢ [+ | £ 18
i '}" (o 1 ’ f:{/ .i;:"
= I3 1 & 19
S 1. b4+ 7 14 g 19
F) [ +1 [+ g |-=

REINING CREDIT +5

RIDER TOTAL
RIDER TIME

=% ostile



DIVISION: G €y

Approach |Obstacle [Departure |Penalties |Credits |Total
Obstacle 1 - _}, 7 —+ | 2
Obstacle 2 =+ | + I 3\ =
Obstacle 3 &= + | + | 3
Obstacle 4 + l gl / + | =
Obstacle 5 + + X + | =
Obstacle 6 + ] -{—T N \ 2
Obstacle 7 + ) + 5 =l =
Obstacle 8 -+ | —+ L 1 + | &
Obstacle 9 &__,_\ 4 L + | L.[
Obstacle 10 4 | “,[_;)\ = l g
Obstacle 11 + -+ 5 + -
Obstacle 12 3 ] + L / _f- (_e
Obstacle 13 A i 1-(, + o
Obstacle 14 + | —{_ (; 4 @
Obstacle 15 — | + (-] ‘
Obstacle 16 =1 _+ =) i N 7
Obstacle 17 -+ ) -+ \ 4+ \ Z

REINING CREDIT +5

RIDER TOTAL
RIDER TIME

oy ]
\‘.’.



Rider Name/#

Approach |[Obstacle

Departure

Penalties |Credits

(=}
7
&
Q
(14
Y
_t,
~\-

rl
—

T

_{.a

N il sdntnd=s

1y RZENN -

u_,._(:-

S ———
= T W— e e, | [ —
" e

] el P— -

}

:'\!""

K.

|

-.‘—'

T

—

W I A P AW L i R

REINING CREDIT +5

RIDER TOTAL

RIDER TIME



DIVISION: G(\C”‘: {, I’) C: /(‘ PRI

Rider Name/#

Penalties |Credits
L] ++ N 2
T ‘sl 7
& o slll| ) [ O

B PO O Loy

e



Approach
Obstacle 1 + | <=7 o ] (7
Obstacle 2 + =X 4 [O &,
Obstacle 3 4+ | + 77 + ( G 7
T l T 6 | +| X X
F+ ) | +t7 1+ % Z
3= ) 7 L] IR
+ | 4 _L- + | (o &
FT e oy ] &
+ +5 [ +1] &
= 8BRS W 5 1 B 2T

REINING CREDIT +5




Approach Penalties |Credits

- T
S R

vt
—

+§j‘:+‘f"

REINING CREDIT +5
RIDER TOTAL
RIDER TIME




DIVISION: G row f"({j

Rider Name/# Lf s L) how e

Approach Obstacle Departure |Penalties |Credits |Total
Obstacle 1 -+ 1 | 4 &
Obstacle 2 £ i ‘}"7 + ( 17 G
Obstacle 3 + | +¢6 | 1 3 K
Obstacle 4 4+ ) £ | T | [ O )
Obstacle 5 a5 =g L (O | IO
Obstacle 6 ¥+ { a e Mg 8] 4 7) L&
Obstacle 7 + | +5 | +) i -
Obstacle 8 <+ | "9 1 ¥ | v i )
Obstacle 9 -+ | 47 " 194 < (7!
+4 4 2R | 3 L& | FO

REINING CREDIT +5

RIDER TOTAL aq
RIDER TIME 15

~—




Obstacle Penalties |Credits
+ 8 |-
. U

An

IR L RS T TRpQ

\
—_—
P

REINING CREDIT +5




C} 1. OU\A’L(‘

iq.
DIVISION: % -

Obstacle |Departure |Penalties |Credits |Total

Approach

: N G
ST 2o W k| 7]
+ 1 Y6 | ¥ | 1O
£ % o ol 3 e 5 g
1 + | 8
-\ T+ 8 L <41 D
+ 3 |47 |41 <
e + + ) g
& | £ [+ g
AN ESEES 9

REINING CREDIT +5

RIDER TOTAL
RIDER TIME

L. 02



Departure |Penalties

Credits |[Total

i

Obstacle 1 -+ = + | i 7
Obstacle 2 | o 1 yi Vi

Obstacle 3 4 | 4+ ) 4 | g ¥ i

Obstacle 4 ] R BESY t &
Obstacle 5 . o | + 7/ 4 | q CZ
Obstacle 6 4 1 2 o ooy 9 Vi

Obstacle 7 + + 4 -+ ) L &
Obstacle 8 F | SR E S 2 1
Obstacle 9 + | ol 1+ ok o
Obstacle10 |+ | + G134 Q S

REINING CREDIT +5

RIDER TOTAL

RIDER TIME



DIVISION: Ur D
Rider Name/#

Approach |Obstacle |Departure |Penalties |Credits |[Total

Obstacle 1 +1 +Z l (D

Obstacle 2 S L0 1 b 1D
Obstacle 3 £ +< L/ 10
Obstacle 4 X ) 5  ( -1
Obstacle 5 +1 |4 + Q
Obstacle 6 =1 +%;_ = g
Obstacle 7 + | + X + | 1
Obstacle 8 + ] o Y1 7

¥ L 1T 0

o K R £ %

X
REINING CREDIT +5

RIDER TOTAL
RIDER TIME




Departure |Penalties |Credits |Total
Obstacle 1 il q ?
Obstacle 2 3 | of L
Obstacle 3 ~+( e jz
Obstacle 4 4 | /o Cs
Obstacle 5 + | ¢ G
Obstacle 6 + [ G- e
Obstacle 7 — g g
Obstacle 8 2 %
o I
719

REINING CREDIT +5

RIDER TOTAL
RIDER TIME

;.3




Approach |Obstacle |Departure |Penalties |Credits |Total

Obstacle 1 + | +( + | J% g
WA G 17
2 ( g e
=] T1T%
=) Yol Te,
] P &
7| (p o
| e &
wad QL L)
s g | = fe.

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




DIVISION:

Rider Name/#

G o A

0

Approach Obstecle Departure |Penalties |Credits |Total
Y 1+ 7 |+ g
T e R 4
+ | xR ES (0
+ ) y@ | + 1 0
1 T 7 |4 | o
1 | v Y y 5 (¥
4 ¥y o |5 4
)| 4 ¢ |+ ¢
+ 7 [+ G
+ | 36 |41 &

REINING CREDIT +5

RIDER TOTAL

Al

RIDER TIME




ObSt?_cle Departure |Penalties |Credits |Total
I NEDS 2

Obstacle 2 i + / +1 3
Obstacle 3 + [ + & + D
Obstacle 4 + | +C | 4 &«
Obstacle 5 + | 4+ Y + | =
Obstacle 6 + | 4+ <t 2
Obstacle 7 + | + -+ | o
Obstacle 8 + 1 T+ &£ 1 [0
Obstacle 9 4 | + > | -
Obstacle 10 A < b 3 { |~

REINING CREDIT +5

RIDER TOTAL

RIDER TIME




Approach |Obstacle [Departure |Penalties |[Credits |Total

Obstacle 1 + | -}-ﬁ ) g ;-2
Obstacle 2 -+ | = | +1 ® =
Obstacle 3 i 41T+ T O
Obstacle 4 —+ 1. i [ + 7 (Q
Obstacle 5 A | T+ & + ' ] ~ 7~
Obstacle 6 3+ | +- ( 4\ ] F) e
Obstacle 7 i i "’l":‘« _}_t [-:l a ,
Obstacle 8 + \ + 'ii:)" 4 7 7
Obstacle 9 . +L{ |+ A .
] 7 ! ¥ T =

REINING CREDIT +5 —

RIDER TOTAL
RIDER TIME




DIVISION:
Rider Name/#

Obstacle Penalties |Credits
a4
4 L-]
i
o
e
3
15

+ 7
-

REINING CREDIT +5




Departure |Penalties |Credits
(O
7.1

I
)

—n

1

REINING CREDIT +5




DIVISION: @) FOUC

Approach |[Obstacle |Departure |Penalties |Credits |Total

Obstacle 1 4| ¥ ) | + G 5
Obstacle 2 _)L, , + ’ _}r [ j A%
Obstacle 3 4+ | + ‘7 + Cf

Obstacle 4 -+ + 5 A\ = =

Obstacle 5 + 4 U + |\ (,; (/)
Obstacle 6 T = 7 3| 3

Obstacle 7 ~1“@ N B‘ ~& | 5
Obstacle 8 @b l 4+ L + ‘ 1"’
Obstacle 9 + | 1 (_ﬂ + | FS
Obstacle 10 3+ | + ( —+ | ‘Zﬁ

REINING CREDIT +5 :

RIDER TOTAL
RIDER TIME




Approach

Penalties

————

—"1

=

. | T, [ —

—"

o

S

e

REINING CREDIT +5
RIDER TOTAL

A

RIDER TIME




DIVISION:

Departure |Penalties Total
Obstacle 1 + Vi
Obstacle 2 —+ | e
Obstacle 3 7 |+ G
Obstacle 4 L1+ &
Obstacle 5 (g + ( A
Obstacle 6 Vs e | q
Obstacle 7 A | —) pd
Obstacle 8 = 1 i
Obstacle 9 Wi 4 | A
Obstacle 10 T |4 =

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




Approach |Obstacle

Penalties

:"._:

. o, [, f—

p=cam.

3 P

e,

REINING CREDIT +5

Lol Porgig

RIDER TOTAL

RIDER TIME




-. !
DIVISION: = VYOUMNCA

Rider Name/# Z 2

Approach |Obstacle |Departure |Penalties |Credits |Total

Obstacle 1 4+ | K i [O | O

Obstacle 2 4 | 12 | £ { Cf
Obstacle 3 ~ | ¥ -+ | L/ L/
Obstacle 4 T + 6 4+ X 5
Obstacle 5 —+ | -+ 7 | 4| Vi 7
Obstacle 6 e 8 iy 15 7 7
Obstacle 7 + | 4+ . i f = g
Obstacle 8 + | + 4 1+ L> .
Obstacle 9 4 ] +3 |+ > h
Obstacle 10 4 | +4f 1+ G e

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




b 9>

DIVISION: OO (\OT

Rider Name/i#

Approach |Obstacle {Departure |Penalties |[Credits [Total
Obstacle 1 + |\ + 7] 5 a1 g
Obstacle 2 4 | +2 | + 1\ 4 Lf
Obstacle 3 1 | K . & [O | (O
Obstacle 4 + ) + 7 | —| [ % -/
Obstacle 5 + ( 1+ + ( D
oA 74 [ostacte 6 =" 1 [ =1 oL l --—%
Obstacle 7 4 | AT — | 3
Obstacle 8 + | 4+ | 4 i
Obstacle 9 — | =y ] =) 0
Obstacle 10 4 | i o Q

REINING CREDIT +5

RIDER TOTAL
RIDER TIME



Approach |Obstacle |Departure |Penalties |[Credits |Total

Obstacle 1 1 + % | S s

Obstacle 2 =) Y + | B )

Obstacle 3 —+ | 4+ T AW, )
Obstacle 4 + | 4+ 2 -+ { = oo
Obstacle 5 + 1T 13 ¢ T3 Ls z
Obstacle 6 + | v o0 | 31 g 7

Obstacle 7 + | 7 4] > >,
Obstacle 8 + | - |+ 7 7
Obstacle 9 X + (|4 | X e
Obstacle 10 +) + Cf |4 <

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




Credit

Departure |Penalties

(=]
2
Y
a
o
>
!
s
H
3
|
UQ'

]

o

3

S

(1]

N
\_}. .
,._’-n.

.
&

?’_ =
Obstacle 3 ) +7) +—{ 7 5
Obstacle 4 3\ TH L F C :
Obstacle 5 il 1+ | 3| E

Obstacle 6 + | +(, | 4 X

Obstacle 7 - 4 | 4| 7]

Obstacle 8 “+ +5 | ¢ 7

Obstacle 9 — | —+3T | 4 [ B

Obstacle 10 4\ 4G | | g

REINING CREDIT +5

RIDER TOTAL
RIDER TIME

i



DIVISION:

Rider Name/#

Obstacle

Departure |Penalties |Credits |[Total

Obstacle 1 5 | (o + | % %

Obstacle 2 —+ | 4+ | + = =

Obstacle 3 + | + @ | + ] X 5
Obstacle 4 + [ e _), ( 7 7
Obstacle 5 s il 4 R 4+ \ 7 V;
Obstacle 6 + | ] i [ C. 7
Obstacle 7 4 -+ U A ( (s .
Obstacle 8 —+ | 4 (] B | ‘, A
Obstacle 9 ~+ | 4+ 2 + | L/ C]
Obstacle 10 -1 + (L 1 < 1

REININGCREDIT+5 |
RIDER TOTAL (& 2L
RIDER TIME | B L]




Approach |[Obstacle |Departure |Penalties |Credits |Total
Obstacle 1 + e f e ] 3
T 1T [0 %
= Tz § | 8,
T 156 |+ &
1 [+ 19 (o
o + Ko (O
3 | +1 {41 o
£ I FE 5] i
+ ( + ¢ | H g
YU [+ [ 3] 9

REINING CREDIT +5

RIDER TOTAL

o

RIDER TIME




Approach |Obstacle [Departure |Penalties |Credits |[Total

+ 1 lr +'_ S
41 YRR -
1 + 77 | — ] B
Y | .00 A e <
T r 2 | !
= 7 LT =
+ { =0 14 3
+ | Tl 1 5] &3
+ v+, | 4] g
4 | Yo | 4+ | 8

REINING CREDIT +5

RIDER TOTAL
RIDER TIME

s 0N - Coeslern
Cdy

e



é}f@ il

Rider Name/# & (

A

Approach |Obstacle |Departure |[Penalties |Credits |[Total
Obstacle 1 +~ | 3 3 | g
Obstacle 2 e | 3 = |
| ~ + | o
#l |
+ | q
‘|’ ( (a
el 4
¥ | ?
+ | &
it I

REINING CREDIT +5

RIDER TOTAL

RIDER TIME



Approach |Obstacle |Departure |Penalties |Credits |Total
Obstacle 1 ¥ | yb AN it
Obstacle 2 + | + Y 4 | -
Obstacle 3 + | e i1 e,
Obstacle 4 + +73 e s
Obstacle 5 =} " S ¥ | H
Obstacle 6 +1 +Y | + | s
Obstacle 7 e | 1/ + | ]
Obstacle 8 - 3 | wgisy i
Obstacle 9 -\ &0 | 3
Obstacle 10 11 4+ R 4+ | 10

7
REINING CREDIT +5

RIDER TOTAL
RIDER TIME




DIVISION:
Rider Name/#

Approach Departure |Penalties |Credits |Total
Obstacle 1 ol 4+ & | wet b0 B T
+1 b e T < | A5
T b 4
+ | & £

REINING CREDIT +5

RIDER TOTAL

RIDER TIME



OpFos.

DIVISION:

Rider Name/#

N OUINC |

Approach |Obstacle |Departure |Penalties |Credits |Total
Obstacle 1 T ) | I g G
Obstacle 2 T 1 5 = < =
Obstacle 3 I+ 4+ + | (% G
Obstacle 4 + e g1 9 o
Obstacle 5 T 4 | —+ 3 R
Obstacle 6 E | . 4 T G g
Obstacle 7 T | + | — | .
Obstacle 8 — | cxd 08 Bl
Obstacle 9 + #2 T

EP o FE L

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




Departure

Penalties

]

+

REINING CREDIT +5

RIDER TOTAL
RIDER TIME '




Obstacle |Departure |Penalties |Credits |[Total

Obstacle 1 & 4+ | e
Obstacle 2 + +4 | 4+ (o
Obstacle 3 -+ +U |+ ( (o
Obstacle 4 1 +3 ] 3/ =

Obstacle 5 — 4 | + | \

Obstacle 6 4+ ) +=2. 1 =1 il
Obstacle 7 + ) Ll | 39 (o
Obstacle 8 A=} +5 | 4 =)
Obstacle 9 ¥ # -+ | =
Obstacle 10 =+ 1 '1'}) o gl | =

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




O

Rider Name/# )

Approach |Obstacle |[Departure |Penalties |Credits |Total
Obstacle 1 -+ | sl i B Kl ¥ i
Obstacle 2 EY R el o
=1 17 |1 9 7
e T ) Z
il +5 | 3} 7/ )
+ F | +( )5 %
+ | § B D o ik (o
a i S e T
+( [+ 5] 3 -
N G A 2

REINING CREDIT +5

RIDER TOTAL

RIDER TIME



RiderNamert | /DLl (4 N

Approach |Obstacle |Departure |Penalties |Credits [Total

Obstacle 1 Sy 0 |+ X ~
Obstacle 2 4 - 1 2 <
Obstacle 3 — | + 5 | — | L E.
Obstacle 4 + | + (s |1 54 b
Obstacle 5 —+ | 4\ |9 2 R
Obstacle 6 o | T U + { A Z:
Obstacle 7 + | .2 — | | g T
Obstacle 8 — | + <1 1 D 1
Obstacle 9 — | 42 | —| b 3 b I,
Obstacle 10 +J £ = 1 5 ¥ 4
Obstacle 11

Obstacle 12

Obstacle 13

Obstacle 14

Obstacle 15

Obstacle 16

Obstacle 17

Obstacle 18

-3 Pthre

RIDER TOTAL
RIDER TIME




Approach |Obstacle |Departure |Penalties [Credits |Total

Obstacle 1 +) +7 | + | g g
Obstacle 2 + | 4 L = 10 I,
Obstacle 3 S + 7 | + o <
Obstacle 4 — S+ B L] > A
Obstacle 5 il =] = ¥
Obstacte 6 + | i o0 o ¢ )
Obstacle 7 + | o st : (2
Obstacle 8 =5 S+ E 1+ | |
Obstacle 9 + | 45 3+ &
Obstacle 10 3\ I (o = 3

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




DIVISION:

Rider Name/#

Obstacle |[Departure |Penalties |Credits |[Totatl
Obstacle 1 +) F( + 7 G
Obstacle 2 T g T + | q ~
Obstacle 3 -+ | +C | 41 [ Q
Obstacle 4 4+ U | + | 2 5
Obstacle 5 4+ | + 7 | + & <
Obstacle 6 =+ =7 | <4 3 &
Obstacle 7 ~+ | =t L] . w1 G ) 4
Obstacle 8 + | +-¢) | + | ( ?
Obstacle 9 + | + 7 |+ <
S 56 [El

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




DIVISION: >

Obstacle

Departure |Penalties |Credits |Total

Obstacle 1 + 1 +& | + 1| c
Obstacle 2 - 7 o | g
Obstacle 3 o | 3= | 4 | | L. N
Obstacle 4 e L[, 4 <k | ] 7 Z
Obstacle 5 3 ) U 4+ 1 % A

Obstacle 6 % 7 1 | VA
Obstacle 7 4+ | g ] g &
Obstacle 8 + +5 | " =

Obstacle 9 3 ( +3 3 | 7 7
Obstacle 10 T +C | 4| X oo

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




\aX

DIVISION: Q? & ),

Departure |Penalties |Credits |Total
Obstacle 1 + +Z + | b ,%«
Obstacle 2 e 4+ 4 & =
Obstacle 3 + | + + | < 52
Obstacle 4 + | + 7 =N 3 =
Obstacle 5 + + 7 e & 7
Obstacle 6 + |\ Tl o 4 5
Obstacle 7 + / N 4 | Y 3}
Obstacle 8 —+ | 42 4/ = G
Obstacle 9 + | - 7 —+ | G G
Obstacle 10 +— | + ¢ e < 2
Obstacle 11 + | S I oy 1% 5
Obstacle 12 + r% ) 3
Obstacle 13 + | hin g &
Obstacle 14 -+ | A L J ! o
Obstacle 15 4 | iy + | &
Obstacle 16 g + B 4+ =
Obstacle 17 + | +7 1 + ) 3
Obstacle 18

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




Approach |Obstacle |Departure |[Penalties |Credits
Obstacle 1 +| + 7 + G
Obstacle 2 + | + | + ) ?
Obstacle 3 J ) +( + | =
Obstacle 4 + | 5 - | 7
Obstacle 5 + \ + Y + | 4
Obstacle 6 —+ | S+ T 2
Obstacle 7 + + o | 4+ | £
Obstacle 8 1= { T g
Obstacle 9 4 | + 7 + | .
Obstacle 10 + | =7 | ) G
Obstacle 11 + | +5 | +1 7
Obstacle 12 Ey +7 | 4+ et
Obstacle 13 + | +5 |+ 7/
Obstacle 14 I | + [ ~+ | 4
Obstacle 15 + | + (- - | 4
Obstacle 16 4+ | 4+ (» o il 5
Obstacle 17 o ‘1 =1 -1 $-) ~

REINING CREDIT +5

4

RIDER TOTAL

RIDER TIME




Approach |Obstacle |Departure |[Penalties |Credits |[Total
Obstacle 1 | + (- + | o 5
Obstacle 2 +/ + ¢ + | < ;
Obstacle 3 <+ | + 7 -+ | e C/I,“ _
Obstacle 4 i +5 | 4+ ( = =z
Obstacle 5 + | + (, + | < %
Obstacle 6 + | +5 |4+ | > 7
Obstacle 7 + | o le | i g .
Obstacle 8 + | + 5 3= ¥, L
Obstacle 9 o= if + & | 41 < £,
Obstacle 10 + | + ¢ |+ 5 <
Obstacle 11 " + | | P =
Obstacle 12 + ( + L/ + | (o
9 PRI s ]
+ | + 1< | X o
ol | 4+ 5 |+ ) . =
cal S 7 T I g X
T | =5 14 | .
-

RIDER TOTAL

RIDER TIME



Approach {Ob

!
&
15
®

Departure |Penalties |Credits |[Total

1 |
i

_.1'—

[
T

—T el

._j_

2
G sl
|
el |
Al |
.
-
.
- =l
+

|

4}
3.

yull |
i |
el

REINING CREDIT +5

RIDER TOTAL '
RIDER TIME =

ORGP D] Qe dce] ALS| SIS

=
&
TH M H R AT H e e

e _H-ﬂ“'_‘_b o — e ,
-

i :th

=]
a
S
(1]
S
P
'“”N?ﬁnmdqﬁwpﬁﬁwwi

+i+$ﬁ¥%+++++++




REINING CREDIT +5

Rider Name/#

Approach |Obstacle |Departure |Penalties |Credits |[Total
Obstacle 1 1 | + + | g Y
Obstacle 2 4+ i - (2 4 | & B
Obstacle 3 = +2 | 4 7 i
Obstacle 4 + 4 (o | 4+ | 1 L
Obstacle 5 53 | + ¢ 1) & (-
Obstacle 6 4 ] 5 1 .41 7 "
Obstacle 7 -+ | + | 4+ | < 2
Obstacle 8 -+ | -+ < 4+ | 5 B
Obstacle 9 + /[ + 2] 4+ | </ L/
Obstacle 10 + [ 1 (o 1 ] S od
Obstacle 11 | +C | + | S P
Obstacle 12 + | + L 4) (- Lo
Obstacle 13 +/ + ¢ + | £ <
Obstacle 14 o] ] s i v o
Obstacle 15 + +3 1 4 | 5 H
Obstacle 16 -+ | + ( - | o _?
Obstacle 17 T g + | S &
Obstacle 18 .

RIDER TOTAL

RIDER TIME




DIVISION:

Rider Name/#
Approach |Obstacle |Departure |Penalties |Credits [Total
Obstacle 1 + | + (o +\ o)
=1 i | 51 =
- L o 5 L 1 9
) 1l | ] {
1 ) t+ & | + | 2
-+ | ol k] 3
T | Tt | + &
SRS S (o
+ 4 i S T I w 5
e LIS 1 9l ]
e L Lobh ) e | o
+ 1 +( |4 | %
= o DU A s 08 O o | &
e +¢ |+ 8
s all i N 2l I 1
=+ | + e |+ g8
— | s i T B o

REINING CREDIT +5 +.5

RIDER TOTAL T
RIDER TIME !



Rider Name/#
Approach |[Obstacle [Departure |Penalties |Credits |[Total
Obstacle 1 + R EY g 9
Obstacle 2 4 | {1 4| L <o
Obstacle 3 1 |+ 5 |4 | 7/ Vi
Obstacle 4 T [ = (.z + | X Q
Obstacle 5 + | 4 ¢ & -~
Obstacle 6 +— | -+ L/ + 1 ‘- e
Obstacle 7 o4 | + (. 4+ J £ X
Obstacle 8 + | 1+ 71 41| 7 9
Obstacle 9 + | + 7 == § 7 <
Obstacle 10 e + 7 o+ | < <
Obstacle 11 =+ | +5 | 41 7 Z
Obstacle 12 + | =72 | 31 &
] : il B B 2o 2l
gL (41 = ] s
| [ +G ]|+ 3
s | +e |+ | &
L
RIDER TOTAL | ?u
RIDER TIME ¢ el




Departure |Penalties Total

s

——— ™ -—-.."ll-_" [

e H

ﬁ%f

MBNAR AR sA LA e PR nd W T
E@EmﬁﬁﬁwyﬂQQpU”'

ey, Rt

9mﬂ0®@@ﬂ<ﬂ@%Q¢&qQ

TH -
T H-HAH

B o

REINING CREDIT +5

RIDER TOTAL '
RIDER TIME




Rider Name/i#

Approach |[Obstacle |Departure |Penalties |Credits |Total
Obstacle 1 4+ | + (| | 4 %
Obstacle 2 o3 1 +5 iR
Obstacle 3 4+ | + 2] 3| ¢/ [
Obstacle 4 ol + & 3l ho >
Obstacle 5 + | +7 | +{ i =
Obstacle 6 + / 4 Ly + | & o
Obstacle 7 + | +¢ | + | = %
Obstacle 8 3 | st "7 4=} = 57"
Obstacle 9 o { + 7 | +1 V4 Z
Obstacle 10 + | F+ef | 4 | (o ¢
Obstacle 11 + | ~+ L + | . &
Obstacle 12 -+ | 43 ] =) | K - s
Obstacle 13 — + ¢ j B L
Obstacle 14 4 | 4+ 5 | 3 | £
Obstacle 15 3 ) F(o |+ | ®
Obstacle 16 4, L& |41 ¢
Obstacle 17 4 | . 5 | (p
Obstacle 18

RIDER TOTAL
RIDER TIME




Rider Name/#

Approach |Obstacle |Departure |[Penalties |Credits
+ o I NG 5. q
+ | L AR R £
¥\ [ +5 [0 7
+ 1 T +% [ 4| 7
ol R e 0 O . B | =
+ | > | =) 4
+ | + & t | 8
bl T E L “
R G 2
5 TS Fa ) -
= o I T 7
+ L Y+ L
— + 31 4 | | L
| TEE T 7
1+ | S B ol 7
+ 1 1 $£61 3+ 57’
AN B

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




Approach |Obstacle |Departure |Penalties |Credits

=l

wH
<o s

\N U

ot SN

}

T

a3

e [ e, fn, | o s, P

\

A R

Y IAWWISNIINTT

. [—

P P TR

~}_
+
T
..'.-—
+
4
+
+
=
+

ffep
SANY)
_ir_

REINING CREDIT +5

RIDER TOTAL
RIDER TIME




Penalties
1 &
+ | 4 7
con i Vi
u T g
Obstacle 5 -f i + = 3 | 7
Obstacle 6 ﬁ—_ / + | — | @) |
Obstacle 7 + 4+ D 5 T /.
Obstacle 8 3 | + @ + | 3
Obstacle 9 A l e e o ‘ L/
Obstacle 10 -+ | e B + | 5
Obstacle 11 + f + T 3 ( Z
Obstacle 12 sl , RS0 Y ‘ J
Obstacle 13 4+ | oL 4.1 7
Obstacle 14 + \ + 5 - ‘ =)
Obstacle 15 -\ + | — | g\' i
Obstacle 16 + ) + 35 4 ) =
Obstacle 17 -— l + (f 3 | i =

REINING CREDIT +5

RIDER TOTAL

RIDER TIME



Approach |Obstacle |Departure |Penalties |Credits [Total
Obstacle 1 7 | + G 11 { =
Obstacle 2 —+ | 4 & + S >
Obstacle 3 -+ ) + (g | % 1
Obstacle 4 4+ | + (o + | F 4 -S
Obstacle 5 4 | +( | + | N 3
Obstacle 6 + | ole L 1 7 7
Obstacle 7 9 | =+ (5 + | 9 b
Obstacle 8 S\ g 77 - 9 7
Obstacle 9 + | + 51 + ) 7 ~7-
Obstacle 10 ~+ 4+ (| 4+ | 74 2
Obstacle 11 4 | i ~+ | 1
Obstacle 12 + | + | + | &
Obstacle 13 —+ | +5 = 1 “71
Obstacle 14 + | + L | =4 g8
Obstacle 15 + | (e | o | R
Obstacle 16 + ( + & 1=t | @
Obstacle 17 — | 4+ 3 | + 5

REINING CREDIT +5 E &

RIDER TOTAL a7
RIDER TIME o 4




DIVISION:

Approach Departure |Penalties |Credits

AR A g g

“n‘ poes [r—,

+++++44+

, e e

ol PR e BN g AT

+ B T

L TR [ [
P R SR




Departure |Penalties |Credits |[Total

Obstacle 1 + | - L 3~ G 2
Obstacle 2 - 4 Lf 4 1 G L
Obstacle 3 — | + | ol 2 ] —]
Obstacle 4 + | + [, 4 <& o
Obstacle 5 4+ | ¥+ 3 | 31 = =
Obstacle 6 + | + ( 3 | ) “{'g?
Obstacle 7 + | 4 ( -+ | e =
Obstacle 8 =+ | 3+ 1 T = =
Obstacle 9 — | S = 4 9 j —
Obstacle 10 4| 577 4 ) L] Zj
Obstacle 11 + | 3 (s - ] 7
Obstacle 12 e | AT T34
Obstacle 13 + |  ¢f + /
Obstacle 14 4 | +5 |+ ]
Obstacle 15 + | +( |+ |
Obstacle 16 e + 5 |+

—+ | +5 [+ (

REINING CREDIT +5

RIDER TOTAL

RIDER TIME



DIVISION: Vou+n
[Rider Name/# LYt 5
Approach |Obstacle |Departure |Penalties |Credits |Total
[Obstacle 1 -+ + | Z
{obstacte 2 + £l | ol -
IObstacle3 + | 3 3+ | <
IObstacle4 + | + 5 + | =
{obstacle 5 + | 35 | — | =
|Obstacle6 4+ | (= % | v
{obstacle 7 + | 7 1+ i 3
fobstacle 8 + = [+ | =
IObstacles 4 1 4 94 + | i O ‘
lobstacte 10 <+ 5 |4 | -
fobstacte 11 + 3L | +1 7
Obstacle 12 4 | 5 = | 7
Obstacle 13 4 +5H —+ | 7
{Obstacle 14 4 +{n + 2
lobstacle 15 + | Y0 |+ | 2
{obstacte 16 % . G |41 9
fobstacle 17 + | 34 ( + S
E)bstacle 18
REINING CREDIT +5 }- Yg
RIDER TOTAL I O‘
201

RIDERTIME

¢ P




DIVISION: y(j S 1
IRider Names# i__jc [ -
Approach |Obstacle |Departure |[Penalties |Credits |[Total
Obstacle 1 -+ | +5 - + ) = =
{obstacte 2 + | e 3 =
{obstacte 3 4 | + i) 3 g%
lobstacle 4 -+ | + 7/ + | i S
|0bstacle5 T | + 5 4+ |\ -~ =
fobstacle 6 -+ | + 7 + & <
|Obstacle7 4 4+ (, + < %
|Obstacle8 4§ + G |+ 5‘ < ,87’
lObstaclee + |\ -+ 77 + g c7
{obstacle 10 | 4+ 2 | 4 | ] O T O
lobstacle 11 4| = d = T
Obstacle 12 + | 7 | + | G =2
[Obstacle 13 -+ | +5 4 | 7 =
IObstacle_14 4+ | e 4 | (7” L7
fobstacle 15 e | g7 e | - g
lobstacle 16 + | A= 2 g%
{obstacle 17 e 32 [+ | 4
lobstacte 18
REINING CREDIT +5 -
IRIDERTOTAL %)
{RIDER TIME H 0o

137



DIVISION: A
[RiderNamerz | b5t/

Approach |Obstacle |Departure |Penalties |Credits Total
{Obstacle 1 4 + (o + | Q
lobstacte 2 + + 0 | 4+ G
IObstacle3 4+ 4 (L -4 ]
{obstacte 4 -+ ) + ( | 4+ g
Obstacle 5 4+ | + 7 + J @]
[Obstacle 6 4 | + 7 |+ | a
fobstacte 7 3 47 |+ |\ G =
|0bstacle8 = | 3 7 4+ <7 (7
fobstacte + + L [+ | VA s
{obstacte 10 + | + 5|+ | 10 O
lobstacle 11 — | e Y < %
fobstacte 12 ] Pt | E) ‘. 8
fobstacte1s 14 ) |4+ | ] i Z,
fobstacte1a | 4+ | + 6 [+ 1 < ©
{obstacte 15 4 J B4 7 -/
lobstacle 16 4 ] G+ |4/ < Y
{obstacte 17 ol ] + (| 4+ =)
Obstacle 18 3

REINING CREDIT +5
{RIDER TOTAL 123
IRIDER TIME 209




|DIVISION: \} 0L A
Rider Name/# 5"’[ O
Approach |Obstacle |Departure |Penalties |Credits [Total
fobstacte 1 + | - 1 ,7 =
lobstacle 2 sl + | 3 23 %
|0bstacle3 o L T"E) 4 5 .7
|0bstacle4 4+ { A Za —+ %» .
{obstacle 5 + F "y 3 ,2—-—?
IObstacles 4 | 5 =y 7 =
IObstacle7 + | 4 L Y A 7,
IObstaclea 4+ | —+ 7 4+ | 7 ?
fobstacte 9 + | FL |+ | A Z
F)bstacle 10 ot | +5 T = =
IObstacle 11 4 ] +(, + < ¢
lobstacte12 | 4+ | 7 |31 Z >
ﬁbstacle 13 + \ + 3 \ 2 ©
{obstacte 14 + | o ) = S
[Obstacle 15 —_ ) + L] + | L
lobstacle 16 T % &
[obstacte 17 FT | +6 |+ | 5
|Obstacle 18 = S
REINING CREDIT +5 + 5
RIDER TOTAL ‘50
{RIDER TIME & Lﬁi

Dre



DIVISION: V@ u N

Rider Name/# b7

Approach |Obstacle |Departure |Penalties Credits {Total

Obstacle 1

T

+ |
fobstacle 2 J ]
fobstacle 3 I ]

s [T

lobstacle 4 |

|0bstacle 5 {

Obstacle 6 )

W o o V2] A

Obstacle 7

R

Obstacle 8

AN UTWIDK Popol

s =
~
iy A

lObstacle 9

fobstacie 10

=

| i

hlgstacle 11

N

MMM

IS8 oY

@Wwﬂ — [obstacte 12

A fobstacte 13

)

L f—

X
ol
2

{
j M P
S e Lt

Igbstacle 14

fobstacle 15

e | |

k)bstacle 16

e e AN A i ay MN ¥ AN el pu W O
PN s AT T NP pord

b

LGN 1]

\%,_;

[

%o

hbstacle 17

S

2

{obstacte 18

REINING CREDIT +5
[RIDER TOTAL
IRIDER TIME

ol
o)

PRSI
o
N3




	amateur score sheets june 7 2025
	green horse score sheets june 7 2025
	in hand score sheets june 7 2025
	Scores Set 5A
	Scores Set 5B

	open score sheets june 7 2025
	youth score sheets june 7 2025

